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Degree (Part-I) Examination, 2023
( Yocational )

BCA
| Paper : First |
| PPU-D-I(H)-BCA-1 |

 Time : Three Hours] [Maximum Marks : 75|

Note : Candidates are required to give their answers in their own
words as far as practicable. Attempt any five questions.

Question No. 1 is compulsory. All questions carry equal
marks.

1.~ Write short notes on the following terms/keywords :

@ RAM
(b) L aser Printer
P (¢)  Flowchart
4008012680 . - (1) [PTO]
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(0)

(e)

2 _ (a)
®)
3. ()
0
4. (a)

DASD

RISC

Niscuss the main characteristic of Computer.

Also draw a block diagram of computer.

Describe ithé applications of Computer.

Differentiate be‘tweén Impact and Non-impact '

Printers.

What are the diﬁerences_ between miéro and mini

Computer?

Convert the following .

() (A8)g=(.ni)yg
(i) (456),= (),
(i) (129),,=(....),

(iv) ~ (11011.01), =( *

V) (7225),=( ),
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ts) Sararm binary sublraction of the following binary

Gy 1111, 1001
Giy 0110, 0010
(v) 11010, 01011

v) 101011, 010010

9. (8) What are the differences between compiler and
interpreter?

(b) Differentiate between ASCIl and BCD Coding.

0. (a) Discuss the architecture of 8086 microproceséor.'
(b) Define DMA Controlier.
7. (a) Define ROM and its types.

(b) Discuss the features of seccndary memory.
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8. (a)
(b)

9 (a)
(b)

10. (2)

(o)

Describe the fourth generation computers.

Write any five internal and external commands of -

DOS.

Define an Algorithm with suitable example.

Write a program in QBasic to enter a number and

check whether the number is prime or not.

What are the differences between assembly and

high-level languages.

Differentiate between on-line processing and

I'_.l'

real time processing.

e S
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Degree (Part-I) Examination, 2023

( Vocational )

BCA

[ Paper : Second ]
[ PPU-D-I(H)-BCA-2 ]
| Time : Three Hours] [Maximum Marks : 75

Note : Candidates are required to give their answers in their own
words as far as practicable. Attempt any five questions
in all. All guestions are of equal value. Question No. 1

IS compulsory.

1. Choose the correct answer from the following

(i) In OS, which of the following is/are CPU

scheduling algorithms ?
(a) Priority

(D) Round Robin

4008-02/2750 (1) [P.T.O.]




(¢)  Shortest Job First
@  Aliofthe above

i) To access the services of the OS, the interface

is provided by the :

(@)  Library

(b)  System Calls

(&)  Assembly Language
@ AP

i if @ process fails, most OS write the error

informationto a

(@) new file

L)  another running process
(¢}  logfile

(@) None of these

¢

Q08-02/2750 (
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(M Transient OS code is a code that
(&) ' Stays in the memory always
(b) Never enters the memory space
(¢) Comes and goes as needed
o (d) None of these

(V) The FCFS aﬂgorithm is particularly troublesome

~ for

(@)  Operating Systems
(b)  Multiprocessor Systems
(c) Time Sharing Systems
(d) Multiprogramming Systems
' M) Can ybu use a #DEFINE on a FoxPro keyword ?
(a) Yes

.(b) Yes, but the redefinition is ignored

4008-02/2750 (3) [PT.O.]




(C) No
(d) None of these

(vi)  Which file is used to write the different types of

FoxPro program 7
(@)  Reportfile

(b) Lable file

(c)  Program file
(d)  Indexfile

(vii) Extension of a database table file is

e e TR L e e T .

(@)  .WK4
(b) .DBF
(c) .DBC
(d) .FDP

4008-02/2750 (4)




(ix)  Extension of a program file in Foxi’ro

(a) .DBGC
(b) PRG
(C) DX

(d) None of these

(%) For sorting the data, we use___.

(a) Index

(b) Sort

(C) Index and Sort
(d)  Allof the above

2. (a) Explain varibus components of Operating

Systems.

(b)  Write difference between Multi-tasking and

Multi-processing Operating Systems.

4008-02/2750 (5) [P.T.0.]
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3 (a)

(b)

4 (a)

(b)

5 (a)

(b)

6 (a)

(b)

7. (a)

(b)
4008-02/2750
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What is File System 7 Explain File Management.

What is UNIX-OS ? Write some important
characteristics of UNIX-OS.

Explain System Life Cycle witn difference stages

What is Process 7?7 Explain Frocess

Management.

What is Database ? Explain the advantages o

Database Management System.

Write difference between "list” and "display

command.

"student” with structure "studentid”. "nams’

"gender”, "course” and "fee” and save record’

What is Sort ? Write its advantages and

disadvantages. - j

Explain 7, ?? and ??? commands with suitabe

1
iy
i

example.

What is Indexing ? Write advantages of Indexing.

(6)




.8. Explain the following FoxPro commands :

» (a) Edit
(b) Goto
(c) Reca{lﬂ
B (d)  Pack

9. (a) What is "Modify Commands" ? Explain use of this

command in FoxPro with example.

(b) Write a FoxPro program to take two numbers and

perform all arithmetical operations.

10. (a)  Explain Conditioning Branching statement of

FoxPro with suitable example.

(b)  Write a FoxPro program to take day number of

week and display name of aay.

. Gaaalas

4008-02/2750
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Degree (Part-1) Examination, 2023

(Yocational)

| Paper : First |

| PPU-D-I-(V)-SUB-MATH ]

[Maximum Marks : 100 |

 Time : Three Hours]

Note : Candidates are required to give their answers in their
own words as far as practicable. The questions are
of equal value. Answer five questions in all.

Question No. 1 1s compulsory. Besides this attempt

at least one question from each section.

1.  Answer all q'L}estion'S-: | ¥ [1'0X2=20] -

1404-01/3120 o & p A ~ [PTO]
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(1)

(ANBY =

@ L AUR
(b) A" M B
(¢)  A'NB
()  ANE

If A={0.3), B=1{45), C={1,12}, D={13,5)
then (ANCYx(B D) =

(1-1) L,
(b)Y 0

qfe 40,3}, B= (4.5}, C={712}, D={13,5)
al (ANC)Y(BD) =

(@) ¢
(b) _ ()

(¢) 7



(ili) InagroupG, a, be G then(a b)™ =

@) blg!
)  alb

() alb!
' (d) b-ia

(iv) A=la;],., 1s asquare matrix if :

(a) m<nm
(b) m=n
- (c) m>n

@) Noneofthe above
-Ah=[ai,-],,,x,, T & e 7 IR :
(@) m<n
(b)) m=n
© m>n
) TR A Y B
‘(v)  Hyperplane is a/an :
(a). Closed set

Fans 0, - (b) Openset '
- 4404013120 . (3) R [PT.O]
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1404-01/3120

(a) i T 7
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& FEHER
A first degree equation imn x, y aﬁd z represents:
(a)  astraight line
(b) aplane
(c) a straight line parallel to x-axis
(d)  None of the above l
x, yUd z H T UG B UH GHIDT ... %
frefid e 8
(a) TH U @
(b) TP Td
(¢) Xx-O P GHFIGY Th |t J@r
(d) SR H G P A&

(7) [P.T.O.]




N
; ) g/ (a)
' (b)
| 3. . (a)

Section-A/ B8-HA
Let A. B and C be sets then show that
AU(BNC)=(AuB)N(AVC)

o e B 4, B 3w C g & O Rl
AU(BNC)=(AUuB)N(AUC)
Prove that

- Ax(BUC)=(AxB)u(4xC)

g BIoT

CAx(BuUC)=(4AxB)U(AxC)

‘Define ring. Give examples.

~ for & R e Hied i

1404-01/3120

Prove that :

(ab)'=b"'a”’, a,beG
G Jiod
(@ab)'=b"a?, a,beG

Section-B/ ¥vs-§

| B > |

1 -2 3 L "E
If4=) , , <|and B=|-1 0| prove

, 12 4]

that (4B) =B'A'.
(8)




R BT (4B) = B'A’ -
(b)  Find the in\ferse of the matrix if 1t exists :

Afger 1 Fehy 5 Sifor, At g st | &
_ 1 2 3
A=4 5 6
6 7 9

S. (a)  Prove that a hyperplane is a convex set.
& FITY {6 BB U I~die? Gz &1
(b)  Solve the following L.P.P. graphically :
Max Z =2x, + x, '
Subject to constraints
3%, + 2%, £12

%, +2x, £6

2%, +3x, <12

X, X, 20
FHleiigd L.L.P. 3 STeiEig &Y & &6 i
1404-01/3120 (9) | P.T.0.]




IMERTH Z = 2x, + ‘z
el & I
3x, +2x, £12
X, + 2%, 56

2%, +3x, £12

. Xy Xy 20

Section-C/ €US~-H

6. (@)  Find the equation whose roots are the »™

powers of the root of the e¢quation

x* —2xcos@+1=0-

TR ST BT BT 56T X% — 2008 6-+1 =0

(b)  State and prove Gregory's series.

T A o e B R ol e i
@  (a)  State and prove D'Alembert's Ratio Test.

(b)  Examine the convergency of the series :

1404013120 (10)




[Oa

(b)

(a)

- /A . @ /4
If x, = cos—+ isin

2" 2"

prove that

g x, = cosf—+ [Sin 272;
Xy Xy Xy er00=—]
&
If # = log, tan ( < —-J prove that
4 2
tanhﬁztdn-—di
2 2
/A
I[f?-i'{ U = loge tan (Z-l—-‘z—) mﬁ #Tfﬁtz
tan h}-l- = tanE
2 2

‘Section-I)/ GI8-T

Find the equation to the normal at any point
(x,, ,) on the parabola y~ = 4ax.

WITT y2 = 4ax b &g (x,.p,) W = &
- gHIB §E g

| 1404-01/3120 (1) [PT.O.]




(b)

SRR ———

Find the axes, foci. eccentricity and the latus
rectum of the hyperbola 4x* - 9y* = 36.
e 4x? - 92 = 36 & T8, S, IeheEel
ug wifiEd i S BT

If @ be thc angle between the two lines whose

direction cosines are [, m, nand [, m, 1, then

prove that cos & = /l, + mmy +ni,.

uﬁa%@aﬁaﬁmaﬁwﬁ FA: 1, m, n 3R

(b)

om0, @ T @ w6 B RS
RINT cos@ =, +mm, +nn.

Find the ecuatidn of the plane passing

through the point (2, -3, 4) and parallel to

2x—01-6z = 6.

7 (2, -3.4) € TEH g@ JUT q9

11404-01/3120
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Degree (Part-I) Examinatiomn, 2023

( YVocational — Composition )

HINIDI
[ Paper : First |
[ PPU-D-I-(COMP.)-HIN-100M |

Time : Three ]H[@un]rsﬂ ﬂlMaxﬁmum Marks : 100 i

e - qemelt gurgya o =R # & SWR d1 Suid & 9
I & Adh o FHRIER el g9l & ST Qo

1. rfoiRag & & feel a9 U1 & S@? cIfeig
(3%12=36]

(®) e 5 | fhd b qiiedsR @ dielcds
Qe @l giEg 4

@, @, T e k9, R

(@) el 9w/ S € @ FIA? e b
oIl

(M) g B aRE RAVAT & au

7401-01/3430 (1) [P.T.O.]
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(%) ¢ R A

(@) fer @ e oda
(M) wEER

(g) R B ST

(8) v A

4. Frefofe gt § @ el 9 & ST &N ¢
[3%5=15]

() suert o &7 el @ SuErl ¥ Q-a % SR
(%) SR o 37 A ¥ 3H w1 I 87

7401-01/3430 (3) [P.T.0.]
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